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總體1/2003     第一次考試      班級：       學號：        姓名：

Williamson Ch1-4  (2003/10/30, 9:10-10:40 AM)

I. Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

1. Even when measured accurately, GDP may be a misleading measure of economic welfare because it cannot account for

a) the value of government spending and how efficiently we produce goods and services.

b) how efficiently we produce goods and services and the value of non-market production.

c) the value of non-market production and the consequences of an unequal distribution of income.

d) the consequences of an unequal distribution of income and the value of government spending.

2. When there is rapid inflation,

a) growth in nominal GDP exceeds growth in real GDP.

b) growth in real GDP exceeds growth in nominal GDP.

c) growth in real GDP and nominal GDP are roughly equal.

d) there can never be any growth in nominal GDP.

3. Real consumption tends to be

a) procyclical and less variable than real GDP.

b) procyclical and more variable than real GDP.

c) countercyclical and less variable than real GDP.

d) countercyclical and more variable than real GDP.


4. The real wage denotes

a) the number of units of consumption goods that can be exchanged for one unit of labor time.

b) the number of units of labor time that can be exchanged for one unit of consumption goods.

c) the number of units of labor time that can be exchanged for one unit of leisure time.

d) the number of units of leisure time that can be exchanged for one unit of labor time.


5. In the production function, 
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6. The profit-maximizing quantity of labor equates the marginal product of labor with

a) total factor productivity.

b) the marginal product of capital.

c) the real wage.

d) the nominal wage.

7. Suppose that the government collects $3 million in taxes, pays $2 million in Social Security benefits, pays $0.5 million in interest on the national debt, and pays workers $1 million to sit at their desks and work as little as possible.  The government’s contribution to GDP is 

a) $0.

b) $1 million.

c) $3 million.

d) $3.5 million.


8. Which of the following topics is NOT a primary concern of macroeconomists

a) Fluctuations in the level of economic activity.

b) Differences in standards of living across countries.

c) Relative wages of skilled and unskilled workers.

d) Unemployment.


9. That indifference curves are bowed in toward the origin

a) is not true.

b) follows from the fact that more is preferred to less.

c) follows from the property that the consumer likes diversity in his or her consumption bundle.

     d) follows from the property that consumption and leisure are normal goods.


10. Additions to inventory are 
a) not counted as an expenditure in GDP accounting.
b) counted as an intermediate input.

c) counted as a component of investment spending.

d) subtracted from sales revenue in calculating profit income.
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II. Numerical & analytical questions (Total: 60 points)

答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。分析題請說明過程。)

1. In year 2001 and year 2002, there are two products produced in a given economy, computers and bread.  Suppose that there are no intermediate goods.  Price and quantity data are given as the following. (total:15%)
Year 2001

	Good
	Quantity
	Price

	Computers
	20
	$100

	Bread
	1000
	$1


Year 2002

	Good
	Quantity
	Price

	Computers
	30
	$80

	Bread
	800
	$1.5


a. Calculate nominal GDP in each year, and the percentage increase in nominl GDP from year 2001 to 2002. (5%)
b. Calculate real GDP in each year, and the percentage increase in real GDP from year 2001 to 2002 using year 2001 as the base year. (5%)
c. Calculate the implicit GDP price deflator and the percentage inflation rate from year 2001 to 2002 using year 2001 as the base year. (5%)
2. Consider an economy with a corn producer, some consumers, and a government.  In a given year, the corn producer grows 100 bushels of corn, and the market price for corn is $5 per bushel. Of the 100 bushels produced, 60 bushels are sold to consumers, 15 are stored in inventory, and 25 are sold to the government to feed the army.  The corn producer pays $300 in wages to consumers and $80 in taxes to the government.  Consumers pay $50 in taxes to the government, receive $30 in interest on the government debt, and receive $30 in Social Security payments from the government.  The profits of the corn producer are distributed to consumers. (total: 23%)
a. Calculate GDP using (i) the product approach, (ii) the expenditure approach, and (iii) the income approach. (9%)
b. From your answers to a, how much are consumption, investment, and government spending respectively? (6%)
c.  Calculate private disposable income, private sector saving, government saving, and national saving. (8%)
3. Suppose that your boss raises your wage rate, but at the same time your dividend income decreases. Determine the effects on your consumption and labor supply, and explain your results in terms of income and substitution effects. (12%)
4. What are the effects on the production function of an increase in total factor productivity? Please use a graph and illustrate your answer. (10%)
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